N\
. nﬂ“#
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Bachelor of Business Management (General) Degree Third Examination
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BMGT E 3065 — Business Finance

No. of questions : 05 Time: 03 Hours

Answer all questions.

(01) AKTS Company is a leading apparel company, and the Board of Directors has decided to

expand company’s operations by establishing a new subsidiary company. Mr. Dias, the

Chief Executive Officer (CEO) of the company, suggested that it is appropriate to assign

whole responsibility of establishing the proposed new subsidiary to Mr.Senevirathne, the

Finance Manager of the company as he has a very good knowledge and experience on the

subject. But Mr. Kavirathne, a major share holder of the company raised many questions

saying that assigning the whole responsibility of establishing subsidiary to

Mr.Senevirathne may not be an appropriate decision as he works towards to achieve his

personal objectives rather than achieving organizational objectives. Further, he said that

the management of the organization should pay their attention on the shareholders’

wealth maximization. But in here, Mr. Sumith, the Sales Manager of the company argued

that the best objective of the organization should be the profit maximization.

a) What is the issue behind the case of assigning the responsibility of establishing the

new subsidiary to Mr. Senevirathne? State your proposed solution to overcome this

issue.

(06 Marks)
b) As the Financial Manager of the company, what are the key decisions should be

made by Mr. Senevirathne in establishing the new company?

(06 Marks)

c) Give your comments on the arguments made by Mr. Sumith and Mr. Kavirathne.

(08 Marks)
(Total 20 Marks)

02) a) A company wishes to borrow Rs.200, 000 for two years from a bank. Bank A will

lend the money at 18.4% per year compounded semi-annually. Bank B will lend

money at 18.2% per year compounded quarterly. Bank C will lend money at

19.6% compounded annually. From which bank should the company borrow

money? Advice to the company.



b)

d)

Mrs. Perera has accumulated savings of Rs. 250,000 in a bank over her working lifetime
and now is planning to retire. She wishes to withdraw equal installments from these
savings for the next 25 years of her life. If she receives 5% on her savings, how much
will each installment amount to?

(05 marks)

Mr.Arunalu wishes to borrow Rs. 90,000 for the purpose of purchasing a Machine
for his factory at a monthly interest of 3%. The Loan is to be repaid in 6 equal
monthly installments, payable at the end of the each month. Prepare the loan
amortization schedule.

(05 marks)

Mr. Amarasooriya is considering the purchase of a five year , Rs.1000 par value

bond, bearing a nominal rate of interest of 8% per annum. Mr. Amarasooriya’s

required rate of return is 9%. What amount should Mr. Amarasooriya be willing
to pay now to purchase the bond, if it is matured at par?

(05 marks)

(Total 20 Marks)

(03)  The capital structure of Neelagiri Company Ltd. is as follows in year 2010

([ 00O

Rs. ' 000’

P00 Ordinary Shares of Rs. 1.00 each 1,000
400,000 Preference Shares of Rs. 0.05 each 200
9% Redeemable Debentures (Rs. 100 each) 200
8% Long Term Loan 200
Total 1,600

Current market value of an ordinary share is Rs.1.20 and a dividend of 6% has just

been paid. Dividend growth is expected to be at a rate of 11 % per year. Issue costs

of these ordinary shares are Rs.0.10 per share. Preference shares have a current

market value of Rs.0.70 per share and the rate of dividend is 8%. Current market

price of a 9% redeemable debenture is Rs 90 and redeemable in 8 years time.

Assume that the corporate tax rate is 30%.

)

Calculate the Weighted Average Cost of Capital for Neelagiri Company Ltd.

based on market values.

(15 arks)

2



b) “The project Cost of Capital is always greater than firms Weighted Average Cost
of Capital”. Do you agree with the above statement? Justify your answer.

(05 marks)

(Total 20 Marks)

(04) a) You have been given the following information with related to Kandy Tera Ltd.

Sales price Rs. 10
Variable cost per unit Rs. 6
Fixed operating costs Rs. 120,000
Interest payments Rs. 40,000
Current activity level 50,000 units

You are required to calculate the following degrees of leverage for Kandy Tera Ltd.
i) Degree of Operating Leverage
ii) Degree of Financial Leverage

ii1) Degree of Total Leverage

(05 marks)
b) Describe how an organization can diversify its risk?
(05 arks)
C) Explain the differences between equity capital and debt capital and describe the
advantages and disadvantages of each.
| (05 marks)
d) List and briefly describe the three forms of informational market efficiencies.
(05 marks)
(Total 20 Marks)
(O"S)~ Write short notes on following:
a) Fundamental Analysis and Technical Analysis
b) Dividend Policy
c) EBIT-EPS Analysis
d) Trade-off Theory and Signaling Theory
(Total 20 Marks)
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